


Area of Composite Figures
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What shapes make up this figure?

Square

Rectangle

Triangle

𝐴 = 𝑠2

𝐴 = 𝑙𝑤

𝐴 =
1

2
𝑏ℎ

2

2

Square

𝐴 = 22

𝐴 = 4 𝑢𝑛𝑖𝑡𝑠2

Rectangle

𝐴 = 6(3)

6

3

𝐴 = 18 𝑢𝑛𝑖𝑡𝑠2

5

6

Triangle

𝐴 =
1

2
(5)(6)

𝐴 =
1

2
30

𝐴 = 15 𝑢𝑛𝑖𝑡𝑠2

Area of Composite Figure

𝐴 = 4 + 18 + 15

𝐴 = 37 𝑢𝑛𝑖𝑡𝑠2



What shapes make up this figure?

Triangles

Rectangles

Squares

3

3

2 Large Triangles

𝐴 =
1

2
(3)(3)

𝐴 =
1

2
(9)

𝐴 = 4.5 𝑢𝑛𝑖𝑡𝑠2

𝐴 = 2 × 4.5 𝑢𝑛𝑖𝑡𝑠2

𝐴 = 9 𝑢𝑛𝑖𝑡𝑠2

2 small Triangles

2

2

𝐴 =
1

2
(2)(2)

𝐴 =
1

2
(4)

𝐴 = 2 𝑢𝑛𝑖𝑡𝑠2

𝐴 = 2 × 2 𝑢𝑛𝑖𝑡𝑠2

𝐴 = 4 𝑢𝑛𝑖𝑡𝑠2



What shapes make up this figure?

Triangles

Rectangles

Squares

3

Small Rectangle

𝐴 = (3)(2)

𝐴 = 6 𝑢𝑛𝑖𝑡𝑠2

Large Rectangle

2

𝐴 = (8)(3)

3
8

𝐴 = 24 𝑢𝑛𝑖𝑡𝑠2

2 small squares

𝐴 = 22

2

2

𝐴 = 4 𝑢𝑛𝑖𝑡𝑠2

𝐴 = 2 × 4 𝑢𝑛𝑖𝑡𝑠2

𝐴 = 8 𝑢𝑛𝑖𝑡𝑠2



Area of Composite Figure

𝐴 = 9 + 4 + 6 + 24 + 8

𝐴 = 51 𝑢𝑛𝑖𝑡𝑠2



















𝐴 =
1

2
(11.2)(4.5)

𝐴 = 8(4.5)

𝐴 = 8(6.7)

= 25.2

= 36

= 53.6


